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Order of Operations Crossword
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ACROSS
9—-4+5
5x(10+2)
24 —4 x 2
30+(1+1)
30—-(3x3)
48+ (3 +1)
4x(4+4)
80+ (3+1)
31 x(12+12)
72 + (12 + 3)
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DOWN

. 25-6x2
2. 52+(0+2)
3. 60+ (2+2)
4. 11x(8-7)
5. 13-(9+09)
6. 2x(4+7)
7. 3x(20+4)
8. 120+ (8—4)
9. 29-4x2
10. 14 x (8- 6)
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Answers

(o) 1 2
\ 110l 275
3 16 |
115 211
12 312
5 210 2
311 | RS
ACROSS DOWN
1. 9—-4+5 1. 25—-6x%x2
2. 5x(10+2) 2. 52+(0+2)
3. 24—4x2 3. 60+ (2+2)
5. 30+ (1+1) 4. 11 x(8-7)
6. 30— (3x3) 5. 13-(9+9)
7. 48+3+1) 6. 2x(4+7)
8. 4x(4+4) 7. 3x(20+4)
9. 80+(3+1) 8. 120+ (8 —4)
11. 31 x(12+12) 9. 29—-4x2
12. 72+ (12+3) 10. 14 % (8 —6)
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